
OFP-07W33
System dust cover with panel mount SOP

2024/3/21



Material

(E) Screw-Flat M2.5*6pcs

(D) Screw-Sink M2.5*8pcs

(C) Top cover

(F) Panel mount kit*2 sets

(A) Front cover

(B) Back cover



System Dust Cover SOP

Step1. Remove screws*2 from OFP-07W33 (please refer to red 
circle in below photo)

Step2. Assemble (C) Top cover with Step1 screws*2 and (E) Screw-
Flat M2.5*2

Step1 screw*2

(E) Screw-Flat M2.5*2

(C) Top cover

Step3. Fasten (B) Back cover with (D) Screw-Sink M2.5*2

(B) Back cover(D) Screw-Sink M2.5*6

Step4. Assemble (A) Front cover with (D) Screw-Sink M2.5*6

(A) Front cover (D) Screw-Sink M2.5*6



Panel Mount SOP

Step2. Fasten/Loosen system on wall or cabint through 

adjusting M4 screws in (F) Panel mount kit. 

(E) Screw-Flat M2.5*2
(Both right/left sides)

Step1. After finished OFP-07W33 with System Dust 

Cover, assemble right/left panel mount kit with (E) 
Screw-Flat M2.5*2

(F) Panel mount kit*2 sets

M4 screws in (F) Panel mount kit



Dedicated to Customer’s Success

Thank You For Listening


	投影片 1
	投影片 2: Material
	投影片 3: System Dust Cover SOP
	投影片 4: Panel Mount SOP
	投影片 5

